8.NS.A.2 Use rational approximations of irrational numbers to compare the size of irrational numbers, locate them approximately
on a number line diagram, and estimate the value of expressions

Which expression has the smallest value?
1) -x 6 Which list shows the numbers |-0.12],

11
82’ 8"
in order from smallest to largest?

11
’ 8 971 82

16
5 1) [-0.12)
4)

Which number has the greatest value? 2) l l { . |-0.12|

D13 1
2 3) / 012, 3.
3) 4) ./82 3 F0.121,

4)
In which group are the numbers arranged in order
In which list are the numbers in order from least to from smallest value to largest value?

greatest? 22

7.3.14, [9.86, ==
) 3273+

3
9862 3147

«/.?,3.2,;7,3% R

22

; 3.14. 7. \[9.86
373234 7

3
3.14, ~/9.86, 7 2

3231 3.2 T T

3 L .
Which i1s the correct arrangement of these terms in
Which numbers are arranged from smallest to order of value, from smallest to greatest?

largest?
1 3\/5,4é,\—4.24|,i/75

1) %14 ;TA/ )
N| 2) N5 |-424]. 4, 32
2) 9.1,:zr,3.14,7 1
3) 4= A[75, 1-4.24], 32
3) AJ9.1,3.14, 272 P gl;
N, 4) A=, [-4.24, 375,32
4) 91,314,;7,272 3
Which inequality is true if x = 3.04

Which list is in order from smallest value to largest 1.48°
value? v=1.9940.33, and z = (1.3)°?
1) \/E,Q,;r,al 1) y<z<x
2) y<x<z
2) %1% 7, 10 3; x<z<y
4) x<y<z

3 72.31,410

7
4) %1;:% 10
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8.NS.A.2 Use rational approximations of irrational numbers to compare the size of irrational numbers, locate them approximately
on a number line diagram, and estimate the value of expressions

Kyoko’s mathematics teacher gave her the 16 Show that the following can be ordered from

accompanying cards and asked her to arrange the
cards in order from least to greatest. In what order
should Kyoko arrange the cards?

T[ ‘\.’;S 3.1 2\:’1': 3| 2

Write the following numbers in order from smallest

3
value to largest value: \/; 1%5 ,1.75.1

Justify your answer.

o1
For what value of 7 1s T <At <ftrue?
1

) 1
2) 0
3) -1
4y 4

Ifx® <x < %, then x could be equal to

Iftr< Aft, tcould be

1)
2)

3)
4)

0
2
1
2
4

<1< Aft,then f could be
1

4

smallest to largest for all x > 1. Describe the
method you used and state the correct order.

| 1
l, =, '\/,\_", e and T

Ifa<bh,c<d,anda,b, c, and d are all greater
than 0, which expression is always true?
1) a-c+b-d=0
2) a+e>b+d
a _ b
3) d e
4) ac<bd

Let x and y be numbers such that 0 <x <y < 1, and
let d = x —v. Which graph could represent the
location of ¢ on the number line?

d
1 1 e
T T b

0 X
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Answer Key

8.NS.A.2 Use rational approximations of irrational numbers to compare the size of irrational numbers,
locate them approximately on a number line diagram, and estimate the value of expressions

ANS: 3
—§=—3‘20<—«.-(1_*—3.16<—;r*—3.14<—3.02

ANS: 1
2 bid
15%1.6? < 7" 157<15=150< 2 ~1.41

ANS: 3
1
J3%17< m~31<32=32 (32~33

ANS: 4
22
Af9.1=3017<314 =3140< w~3142< - = 3143

ANS: 4

7 =3.141 <i—2~3.1‘42< 3.1=3.100 < /10 ~3.162

ANS: 4

,L = 110 < l*.l]l( |—U.12|=.120 <l=.125
82 9 8

ANS: 4
22
3.14 = 3.14000 < +f9.86 ~3.14006 <=~ 314153 < - ~ 314286
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Answer Key

8.NS.A.2 Use rational approximations of irrational numbers to compare the size of irrational numbers,
locate them approximately on a number line diagram, and estimate the value of expressions

ANS: 3

4é= 4.125 <3758 4.217 <|-4.24|= 4.240 <32 = 4 243

ANS: 3

3.04
x=2 %21 z=(137~22 »=199+033~23

1.48

ANS:
- 4 -
2%,«/@3. L 723, 22=280¢ JB~283¢31~311<m~3.14< 2f3 ~3.46

ANS:
3 2

l% l%ﬁ 175, 1=1.00 €2 =150 <l =167 ef3=17321.75=175

ANS: 4
ANS: 4

15,1 1
¢ —2<¢ |-
<55

04 C.20< .45

ANS: 3

x,x. Ifx= ,41\/—1«/_4
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Answer Key

8.NS.A.2 Use rational approximations of irrational numbers to compare the size of irrational numbers,
locate them approximately on a number line diagram, and estimate the value of expressions

ANS: 4
Cross-multiplying, ac < bd

ANS: 4
Because x <y, x — y must be negative, so d < 0.
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